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Fifth Semester
Mining and Mine Surveying

Scheme July 2009

ADVANCE MINE SURVEYING

Time : Three Hours Maximum Marks : 100

Note : i) Attempt total six questions. Question No. 1 (Objective type)
is compulsory. From the remaining questions attempt any five.

Hw$b N>…N>…N>…N>…N>… àíZ hb H$s{OE & àíZ H«$‘m§H$ 1 (dñVw{Zð> àH$ma H$m)
A{Zdm¶© h¡ & eof àíZm| ‘| go {H$Ýht nm±Mnm±Mnm±Mnm±Mnm±M H$mo hb H$s{OE &

ii) In case of any doubt or dispute, the English version question
should be treated as final.

{H$gr ^r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ^mfm Ho$
àíZ H$mo A§{V‘ ‘mZm Om¶oJm &

1. Choose the correct answer. 2 each

ghr CÎma H$m M¶Z H$s{OE &
i) Balancing of traverse is done according to the

(a) Transit rule (b) Prismoidal rule

(c) Trapezoidal rule (d) All of them

Q´>odg© gÝVwbZ H$m H$m¶© {H$¶m OmVm h¡
(A) Q´>mpÝOQ> ê$b (~) {àñ‘m°S>b ê$b
(g) Q´>onoOmoAmB©S>b ê$b (X) BZ‘| go g^r

ii) In tangential tacheometry the staff is held

(a) Inclined (b) Normal to the line of sight

(c) Vertically (d) None of these

ñneu¶ Q>o³¶y‘rQ>ar ‘| ñQ>m’$ aIm OmVm h¡
(A) BÝ³bmBÝS> (~) g§YmZ aoIm Ho$ b§~dV²
(g) CÜdm©Ya (X) BZ‘§o go H$moB© Zht
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iii) The radius of a one-degree curve is

(a) 1,719 m (b) 1,760 m
(c) 2,000 m (d) 2001 m

EH$-{S>J«r dH«$ ‘| {ÌÁ¶m hmoVm h¡
(A) 1,719 ‘r. (~) 1,760 ‘r.
(g) 2,000 ‘r. (X) 2001 ‘r.

iv) Permissible limit of error for direct traverse in correlation is-

(a) ± 1 minute of arc
(b) ± 2 minute of arc
(c) ± 3 minute of arc
(d) ± 4 minute of arc

S>m¶ao³Q> Q´>odg© Ho$ H$mo[aboeZ ‘| Ìw{Q> H$m AZw‘V ‘mZ hmoVm h¡
(A) ± 1 {‘ZQ> H$m Mmn
(~) ± 2 {‘ZQ> H$m Mmn
(g) ± 3 {‘ZQ> H$m Mmn
(X) ± 4 {‘ZQ> H$m Mmn

v) Example of Passive Remote Sensing is

(a) Sun (b) Earth
(c) Radar (d) None of them

{ZpîH«$¶ [a‘moQ> goZqgJ H$m CXmhaU h¡
(A) gy¶©> (~) n¥Ïdr
(g) amS>ma (X) BZ‘§o go H$moB© Zht

2. Following are the notes of theodolite traverse carried out A to E. 18
  Line Azimuth Horizontal Distance Inclination
  AB 210°40'20'' 60 m 10° dipping
  BC 110°20'20'' 90 m 15° dipping
  CD 60°20'40'' 100 m 12° dipping
  DE 130°40'40'' 120 m 0° level
Calculate the azimuth, the length and inclination of the roadway to
driven  from E to A.
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A go E VH$ {ZåZm§{H$V OmZH$mar Ï¶moS>mobmBQ> Q´>odg© Ûmam {b¶o J¶o h¡&
  aoIm EOr‘yW j¡{VO Xÿar B§³brZoeZ
  AB 210°40'20'' 60 ‘r. 10° {S>qnJ
  BC 110°20'20'' 90 ‘r. 15° {S>qnJ
  CD 60°20'40'' 100 ‘r. 12° {S>qnJ
  DE 130°40'40'' 120 ‘r. 0°  bodb
E go A H$s Amoa Mbm¶o J¶o amñVo H$m EOr‘yW, b§~mB© VWm BÝ³brZoeZ kmV
H$s{OE&

3. Two seams of coal are separated by 52 meter (vertical) of strata which
dip at angler 20° to the horizontal. Calculate the length of cross measure
drift driven to connect them. 18
a) If the drift is level
b) If it rises 1 in 9 towards the dip of seam
c) If it dips 1 in 2 in the same direction as the seam.

Xmo H$mob gr‘, {OgH$m j¡{VO go {S>n H$moU 20°, nañna 52 ‘r. CÜdm©Ya
AÝVamb go {d^³V h¡& BZ XmoZm| gr‘ H$mo Omo‹S>Zo Ho$ {b¶o H«$mg-{S´>âQ> Mbm¶m
J¶m h¡, Omo {ZåZm§{H$V h¡, BgH$s b§~mB© H$s JUZm H$s{OE&
A) ¶{X {S´>âQ> bodb ‘| h¡&
~) ¶{X {S´>âQ> amB©O ‘| 1 in 9 go gr‘ H$s {S>n H$s Amoa h¡&
g) ¶{X {S´>âQ> {S>n ‘| 1 in 2 go gr‘ H$s {S>n H$s {Xem H$s Amoa h¡&

4. a) Describe the method of setting a circular curve by deflection
distances 9

{djon Xÿ[a¶m± {d{Y Ûmam gab dH«$ H$s {ZemZ~ÝXr H$m dU©Z H$amo&
b) Describe the method of setting a circular curve by two theodolite

method. 9

Xmo Ï¶moS>mobmBQ> {d{Y Ûmam gab dH«$ H$s {ZemZ~ÝXr H$m dU©Z H$amo&

5. a) Describe the Weiss quadrilateral method of correlation. 9

H$mo[aboeZ H$s {dg ³dm{S´>boQ>oab {d{Y H$m dU©Z H$amo&
b) Illustrate the direct transference of azimuth, down the shaft. 9

emâQ> Ho$ ZrMo EOr‘yW H$mo grYo ñWmZm§VaU H$aZo H$s {d{Y H$mo g‘PmB¶o&
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6. a) What is tangential tacheometry? Illustrate it 9

ñneu¶ Q>o³¶mo‘oQ´>r ³¶m h¡? Bgo g‘PmB¶o&
b) Describe the movable hair method of tacheometry. 9

Q>o³¶mo‘oQ´>r H$m J{Verb Vma {d{Y H$m dU©Z H$amo&

7. Describe the correction on base line measurement. 18

AmYma aoIm Ho$ ‘mnZ ‘| g§emoYZ H$m dU©Z H$a|&

8. Write the short notes on following. 6 each

a) Balancing of Traverse

b) Remote Sensing

c) Total Station

{ZåZ _| g§{já {Q>ßnUr {b{IE&

A) Q´>odg© g§VwbZ

~) [a‘moQ> goZqgJ

g) Q>moQ>b ñQ>oeZ
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